
Errors in Chapter 8: 

 

Pgs 460, 464, Example Problem 8.1: The sketch of the box beam cross-section shown in 

Figure 8.14 parts (b) and (c) is inconsistent with the problem statement.  For example, the 

stacking sequence of the top flange in part (b) should be listed as: [(0/90)2s/±45]s.  A 

corrected version appears below.  
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Figure 8.14: The composite box-beams considered in Example Problem 8.1 (not to scale). 
(a) Composite box-beam with identical stacking sequence in all web and flange 
laminates; (b) composite box-beam with additional plies added to the top flange laminate;  
(c) composite box-beam with additional plies added to both top and bottom flange 
laminates 
 


